Class 3 Home Learning, week beginning 8th June 2020

Please walch the video bhefore choosing your challenge.

The answers for dll challenges are incuded in this doc-
wment.



Challenge |

These pages do not need to he printed out. Please write the short date you do
the work, the challenge and the ahove guestion in your maths hook, underlining
them neatly with a ruler. Rememher to write the guestion number too!

Questions |-4 mentioned in the video are questions |-4 in this challenge.

[) Copy and complete the number sentences in your maths hook.

23 23 23

There are 23 marbles in a jar.
23

marbies

There are 5 jars. ME?M

L rfrrfrrfry errrrrrrrrd

L rfrrrrey e rrrfrrrrrrd

How many marbles are there in total?

5 x 3 ones =

5 x 2 tens =

Ex23=

There are marbles in total.




2) Copy and complete the numher sentences in your maths hook.

Work out 4 x 15

00000

010|0|0

4x5=

4 %10 =

4 %15 =

3) Copy and complete the numher sentences in your maths hook. Show how you
worked out the answers.

Complete the multiplications.

a) 4 x 24 =

b)3x 17 =

) 3x25=

d)3dx4=

4) Copy and complete the column multiplications in your maths hook.

Tens [ G0 ]

00 |0000 0
00 |0000 "
00 |(0000|
000 (00000
000 |00000 —
000 (00000
000 | 00000

Answers are on the next page.



Challenge |

o There are 23 marbles in a jar.

There are 5 jars.

ANSWERS

| IEEEEEEEEEp EEEEEEEEE N

| IEEEEEEEEEp EEEEEEEEEE

How many marbles are there in total?

5x3ones=| |5

5x2tens=| [ ()

15 |+] 100 |=| |IS
5x23=| ||5

There are| | | ) | marbles in total.

Work out 4 x 15

Tens

0|0|0|O

Complete the multiplications.

a)4x24=|C(
b)3x17=| 5
€ 3Ix25=| 15
d)3dx4a=|7(

4 x5 = ;:::
ax10=| /)
4x15= 6@"

o Complete the column multiplications.

| e [

00

0000

Q0

OO

N
w &s 0

"

A

W -

B w0

o000 (00000
000 (00000
000 00000
000 (00000

I



These pages do not need to he printed out. Please write the short date you do

the work, the challenge and the ahove guestion in your maths hook, underlining
them neatly with a ruler. Rememher to write the guestion number too!

Questions |-4 mentioned in the video are questions |-4 in Challenge |.
Questions 5-8 are questions [-4 in this challenge.

1) Copy and complete as column multiplications in your maths hook.

a) 25 x5 ) 5x 26
T O
g
® 5

b) 35 %6 d) 4 x 36
T O
)
x 6

2) Tommy works out 37 x 2

What mistake has Tommy made? Work out the correct answer.



3) Copy and complete.

Find the missing numbers.

2|2
x
8 8

L) Remember: a product is the answer to a multiplication.

Here are some digit cards. 1

2

3

4

a) Use the digit cards to create a multiplication

and work out the answer.

x

b) Work with a partner to find calculations that have:

¢ an odd product

® an even product

* an exchange in the ones column

* an exchange in the ones and tens columns.

Answers are on the next page.



ANSWERS

|) Work out the multiplications.

a) 25 x5 c) 5x26
T O
2|5
x 5
b) 35 x 6 d) 4 x 36
o T ]
5

2) Tommy works out 37 x 2

(%]
2l < O

What mistake has Tommy made? Work out the correct answer.

3) Find the missing numbers.

]

« [ x__;]

4) Here are some digit cards. | 9 2 3 4 5 8

a) Use the digit cards to create a multiplication
and work out the answer.

o x =

b) Work with a partner to find calculations that have:
# an odd product
® an even product
® an exchange in the ones column

# an exchange in the ones and tens columns.



Reasoning and problem solving

These pages do not need to he printed out. Please write the short date you do
the work, the challenge and the ahove guestion in your maths hook, underlining
them neatly with a ruler. Rememher to write the guestion number too!

|) Alex completes the calculation:

43 X 2

Can you spot her mistake?

T O

4 3

X 2
6

+ 8
1 4

Teddy completes the same calculation
2)  asAlex
Can you spot and explain his mistake?

T O
A 3
X 2
8 0 6

3) Dexter says,

& e

Is Dexter correct?

Answers are on the next page.
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